Section 3.1

                 6. (a) True 

                     (b) True

                     (c) True

                     (d) False

                     (e) True


                     (f)  False

               10. The only nonempty sets are in parts (d) and (f).

               14. (a)   2^11-2^6= 1984.
                     (b)  2^12-2^6=  4032.

 Section  3.2

                4.  (i) True 

                     (ii) False

                     (iii) False

                     (iv) True

                     (v) True


                     (vi)  False.

Section 3.3-3.4

2. 2[(36)^3+2(26)(36)^2-1]-2.

4.      Hints:- Venn Diagram.

